Crosley CDE9500AZW 06 - REAR BLKHD, AIR DUCT, ROLLER&HTR (ELE)

\\

SERIES 14 ONLY

Crosley Residential Crosley CDE9500AZW Dryer Parts Parts Diagram 06 - REAR BLKHD, AIR DUCT, ROLLER&HTR

(ELE)
Click on the part number to view part

Original Part Number Replaced By Status Part Description
1 503605 Assembly, Heater Duct
2 61195 61927 Heater Assembly
" Y503978 Assembly, Heater Kit
NOT REQUIRED PART OR
" W10124350 Not Available SEE NOTE HEATER
ELEMENT (SEE ITEM 17)
503688 Screw, 10B-16 X .34 |
4 40113801 Fuse, Thermal
" 40113801 Fuse, Thermal
" 37001135 37001139 Repair Kit, 5300w Element
5 23222 3177991 Screw
6 Y62641 W10116735 Thermistor-Fix
" Y62641 W10116735 Thermistor-Fix
" 37001133 Thermostat, 240F Limit
7 20530 Screw, 10-24 x 3/8 Hex

8 Y61199 3400094 Screw, 10-32 X 3/8


http://www.pwslaundry.com/c-511461-residential-crosley-cde9500azw-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10430641-crosley-503605-dryer-assembly-heater-duct.html
http://www.pwslaundry.com/i-10430776-crosley-61927-dryer-heater-assembly.html
http://www.pwslaundry.com/i-10432338-crosley-y503978-dryer-assembly-heater-kit.html
http://www.pwslaundry.com/i-10432333-crosley-503688-dryer-screw-10b-16-x-34-i.html
http://www.pwslaundry.com/i-10430643-crosley-40113801-dryer-fuse-thermal.html
http://www.pwslaundry.com/i-10430643-crosley-40113801-dryer-fuse-thermal.html
http://www.pwslaundry.com/i-10431135-crosley-37001139-dryer-repair-kit-5300w-element.html
http://www.pwslaundry.com/i-10433925-crosley-3177991-dryer-screw.html
http://www.pwslaundry.com/i-10433095-crosley-w10116735-dryer-thermistor-fix.html
http://www.pwslaundry.com/i-10433095-crosley-w10116735-dryer-thermistor-fix.html
http://www.pwslaundry.com/i-10431133-crosley-37001133-dryer-thermostat-240f-limit.html
http://www.pwslaundry.com/i-10430685-crosley-20530-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10433941-crosley-3400094-washer-dryer-screw-10-32-x-3-8.html

10
11
12
13
14
15
16
17

502614WP

501801
503688
40113601
37001042
37001140

37001132

Block, Terminal

Washer, 501 ID X3/4 Odx
Ring, Retaining

Bulkhead, Rear

Seal, Cylinder

Screw, 10B-16 X .34 |
Assembly, Roller Brkt
Assembly, Cylinder Roller
Repair Kit, 5000w Element


http://www.pwslaundry.com/i-10430705-crosley-61923-dryer-block-terminal.html
http://www.pwslaundry.com/i-10429801-crosley-52549-washer-dryer-washer-501-id-x3-4-odx.html
http://www.pwslaundry.com/i-10429799-crosley-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10430792-crosley-502614wp-dryer-bulkhead-rear.html
http://www.pwslaundry.com/i-10430711-crosley-37001132-dryer-seal-cylinder.html
http://www.pwslaundry.com/i-10432333-crosley-503688-dryer-screw-10b-16-x-34-i.html
http://www.pwslaundry.com/i-10430717-crosley-40113601-dryer-assembly-roller-brkt.html
http://www.pwslaundry.com/i-10430713-crosley-37001042-dryer-assembly-cylinder-roller.html
http://www.pwslaundry.com/i-10431134-crosley-37001140-dryer-repair-kit-5000w-element.html

	Crosley CDE9500AZW 06 - REAR BLKHD, AIR DUCT, ROLLER&HTR (ELE)

